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vkn’kZiz'ui=e~ la- 1
laLd`re~ ¼dsfUnzde~ ½

SANSKRIT (CORE)
dksM la[;k 322
}kn'k&d{kk

vof/k% gksjk=;e~ iw.kkZÄïk % 100
le;% rhu ?k.Vs iw.kkZÄï % 100
Time: 3 Hours Maximum Marks : 100

funsZ'kk% � lÄïsrkHkkos losZ"kka iz'ukukeqÙkjkf.k laLd`rsuSo ys[kuh;kfuA

tgk¡ Li"V ladsr ugha gS] ogk¡ mÙkj laLd`r esa gh nhft,A

Answer the questions in Sanskrit only unless stated otherwise.

� mÙkjkf.k i`Fkd~nÙkk;ke~ mÙkjiqfLrdk;ke~ ,o ys[kuh;kfuA

lHkh mÙkj vyx nh xbZ mÙkjiqfLrdk esa fy[ksaA

Answers should be written only in the separately provided answer-book

� vfLeu~ iz'ui=s pRokj% [k.Mk% lfUrA

bl iz'ui= esa pkj [k.M gSaA

There are four sections in this question paper.

[k.M% d vifBrka'k&vocks/kue~ ¼vifBrka'k vocks/ku½

SECTION  A (Reading Comprehension) 10 vÄïk%

[k.M% [k laLd`rsu jpukReddk;Ze~ ¼laLd`r esa jpukRed dk;Z½

SECTION  B (Sanskrit writing Skill) 15 vÄïkõ%

[k.M% x vuqiz;qDrO;kdj.ke~ ¼vuqiz;qDr O;kdj.k½

SECTION  C (Applied Grammer) 30 vÄïkõ%

[k.M% ¼?k½ Hkkx (i)  ifBrka'k &vocks/kue~ ¼ifBrka'k vocks/ku½ 35 vÄïkõ%
Hkkx (ii)  lkekU; laLd`rlkfgR;ifjp;% ¼lkekU; laLd`r lkfgR; ifjp;½     10 vÄïkõ%

SECTION D Part (i) Reading Comprehension

(ii) General Introduction to Sanskrit Literature
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[k.M% ¼d½
Section (A)

vifBrka'k & vocks/kue~
Unseen Reading Comprehension

1- v/kksfyf[kra x|ka'ka ifBRok iz'ukuke~ mÙkjkf.k laLd`rsu fy[krA
fuEufyf[kr x|ka'k dks i<+dj iz'uksa ds mÙkj laLd`r esa fyf[k,A
Read the following passage and answer the questions in Sanskrit.

iqjk df'pr~ ,d% cky% v/;;us jr% vklhr~A l ;r~ viBr~ rr~ foLejfr LeA vr% rL;
lgikfBu% re~ miglfUr LeA ,dnk vkReXykfuihfMr% l% fo|ky;kr~ fujxPNr~ ekxsZ p
vfpUr;r~&uwue~ vge~ ew[kZz% vfLeA vr ,o losZ eke~ miglfUrA ee HkkX;s fo|k ukfLrA lEizfr
fda djksfe bfr fpUr;u~ Hkzeu~ ekxsZ rsuSd% dwi% n`"V%A r= dk'pu efgyk% Lo?kVku~ tysu
iwj;fUr LeA l dqrwgykr~ r= fLFkr%A v=kUrjs l% vi';r~ ;r~ ;fLeu~ f'kyk[k.Ms ?kV% fufgr%
vklhr~ r=Sd% xrZ% orZrsA l% ofurka i`PNfr&vEc! bea lqUnja xr± d% fufeZroku~ bfr\** lk
fogL; vonr~] ̂ ^xrZ% ,"k% rq izfrfnua ?kVLFkkiusu fufeZr%] u dks·fi vL; fuekZrkA ̂ ^rn~op% JzqRok
l% vfpUr;r~ ;fn Hkw;ksHkw;% e`fÙkdk?kVL; LFkkiusu ik"kk.kf'kyk;ke~ vfi xrZ% lEi|rs rnk iqu%
iqu% iBusu ee efr% dFka u rhozk Hkosr~ bfr fopk;Z l iqu% fo|ky;a izR;kxPNr~A dkykUrjs
fo|kH;klsu v;eso cky% egku~ oS;kdj.k% cksinso% vHkor~A mDra p vH;klkn~ yHkrs fo|ke~ bfrA

iz'uk%
I- ,dinsu mÙkjr

,d in esa mÙkj nhft,A
Answer in one word. ½ × 4 = 2

(i) ckysu ekxsZ d% n`"V%\

(ii) dk'pu efgyk% tysu dku~ iwj;fUr Le\

(iii) xrZ% dq= vklhr~\

(iv) egku~ oS;kdj.k% d% vHkor~\

II- iw.kZokD;su mÙkjr
iw.kZokD; esa mÙkj nhft,A
Answer in one sentence. 1 × 2 = 2

(i) vkReXykfuihfMr% cky% fde~ vdjksr~\

(ii) xrZ% rq dFka fufeZr% tkr%\

10
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III- ;FkkfunsZ'ke~ mÙkjr 4

funsZ'kkuqlkj mÙkj nhft,
Answer as directed.

(i) ^lqUnja xr± * v= fo'ks"k.kina fde~\

(ii) ^^losZ eke~ miglfUr* bR;= drZ̀ina fde~\

(iii) ^^eUnk** bR;L; foykseina fda iz;qDre~\

(iv) vr% rL; lgikfBu% re~ miglfUr Le ^ v=* ^rL;* bfr loZukeina dLeS iz;qDre~\

IV- vL; x|ka'kL; leqfpra 'kh"kZda fy[krA 2

bl x|ka'k ds fy, leqfpr 'kh"kZd fyf[k,A
Please give a suitable title to this paragraph.

[k.M ^[k*
 Section ëëBíí

laLd`rsu  jpukReda dk;Ze~
Sanskrit Writing Skill

2- Hkoku~ iz.ko% psUubZuxjs fuolfrA Hkor% fe=e~ okxh'k% ijh{kk;ke~ mÙkekÄïS% mÙkh.kZ%A
ijh{kk;ka lQyrk;S o/kkZiua iznkuk; fe=a izfr fyf[krs vfLeu~ i=s e×tw"kkinS%
fjDrLFkkukfu iwjf;Rok mÙkjiqfLrdk;ka i=a iqu% fy[krA

vki iz.ko psUubZ uxj esa jgrs gSaA vkids fe= okxh'k ijh{kk esa mÙke vadksa ls
mÙkh.kZ gq, gSaA ijh{kk esa lQyrk ds fy, c/kkbZ nsus ds fy, fe= dks fy[ks bl i=
esa fjDrLFkkuksa dks e×tw"kk esa fn, x, inksa ls Hkjdj i= dks mÙkj iqfLrdk esa iqu%
fyf[k,A

You are Pranava from Chennai. Your friend Vageesh has succeded in the Board
Examination scoring very good marks. Fill in the blanks in the following letter written
to your friend congratulating him on his success in the examination. You can take the
help of words given in the box and rewrite the letter again.

½ × 10=5
(i)................................

frfFk% ..........................

fiz; (ii) ...........................

       (iii) ...........................

15
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v= dq'kya r=kLrqA dsUnzh;ek/;fedf'k{kklÄ~?kVusu v|So 8-00 v"Voknus }kn'kd{kk;k%
(iv) .........................................leqn~?kksf"kr%A e;k b.VjusV bfr ek/;esu ro ijh{kk ifj.kke%
(v) .........................A vL;ka ijh{kk;ke~ Roe~ i×puofr% izfr'kre~ (vi) ......................... izkI;
leqÙkh.kZ%A laLd`rs rq 'kre~ ,o vÄïku~ yC/koku~ vflA ;ksX;rklwP;ke~ vfi ro uke n`"V~ok vge~
gkfnZda g"kZe~ vuqHkokfeA (vii) .........................dBksj% ifjJe% lQy% tkr%A Ro;k u dsoye~
vkReu% vfi rq LodqVqEcL; vfi (viii) ......................... of/kZre~A Roa Hkw;ksHkw;% iz'kaluh;ks·flA
vge~ ,rL;S mPp&lQyrk;S rqH;a gkfnZda (ix) ......................... ;PNkfeA Hkfo";s ro dk ;kstuk
bfr fy[krqA

ekr`&fir`pj.k;ks% iz.kkek%A

ro vfHkUulqân~

(x)......................

e × tw"kk

fofnr%  okxh'k ]  psUubZr%]  ro]  vÄïku~]
;'k%]  iz.ko%] ueLrs] o/kkZiue~ ijh{kkifj.kke%

3- e× tw"kkiznÙk'kCnlwphlkgk¸;su y?kqdFkka'ka iwjf;Rok iqu% fy[krA ½ ×10 =5

e×tw"kk esa fn, 'kCnksa dh lgk;rk ls y?kq dFkk ds va'k dks iw.kZ
dj iqu% fyf[k,A
Complete the short story with the words given in the box below and rewrite the same.

,dnk df'pr~ O;k/k% tkye~ vknk; fogxku~ vUos"Vqe~ br% rr% ifjHkzeu~ oue~ (i)__________A
rr% l O;k/k% ous (ii)_____________ fodh;Z tkya p izlk;Z Lo;a izPNUu% vHkor~A ,rfLeu~
vUrjkys diksrjkt% fp=xzho% lifjokj% rku~ r.Mqyku~ n`"V~ok vuq;kf;u% (iii)_____________

vonr~ vfLeu~ (iv)_____________  ous r.Mqykuka laHko% dqr%\ rn~ Hknze~ bna u
(v)_____________A ;r% vfu"Vkr~ b"VykHk% vfi u (vi)_____________A ,rPNz qRok df'pr~
if.MrEeU;% lniZe~ vonr~ la'k;kRek (vii)_____________ rnuUrja rs yqC?kk% diksrk%
(viii)_____________________p c)k% vHkou~A rr% fp=xzho% rku~ vdFk;r~ & foiRdkys
(ix)_____________ /kkj.kh;e~A o;a losZ Lofe=L; fgj.;dL; ew"kdjktL; lehia xPNke%A
rnk losZ diksrk% lagrk% tkye~ ,oa x`ghRok mniru~A fgj.;dsu fNUuik'kk% diksrk%
(x)_____________ra iz'kalfUr LeA

e×tw"kk

r.Mqyku~]  diksrku~]  vxPNr~]  futZus  oje~]
i';kfe] tkysu] /kS;Ze~] fou';fr] d`rKr;kA
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4- v/kksfyf[krfo"k;s"kq ,da fo"k;e~ vf/kd`R; i×pokD;fere~ vuqPNsna 1 × 5 =5

laLd`rsu fyf[kr!

fuEufyf[kr fo"k;ksa esa ls ,d fo"k; ij ikap okD;ksa dk laLd`r esa
,d vuqPNsn fyf[k,A

Write a passage of five sentences in Sanskrit on any one of the following topics.

(i) fo|kfoghu% i'kq%A

(ii) laLd`ra eg~;e~ fdeFk± jksprs\

(iii) fo|ky;L; lEiÙks% j{kk dj.kh;kA

[k.M% ^x*
 Section C

vuqiz;qDrO;kdj.ke~

vuqiz;qDr O;kdj.k

Applied Grammar

5- v/kksfyf[krs"kq okD;s"kq js[kkafdrins"kq lfU/kfoPNsna dq#rA 1 × 6 = 6

fuEufyf[kr okD;ksa esa js[kkfÄïr inksa esa lfU/kPNsn dhft,A

Disjoin Sandhis in the bold typed words in the following sentences.

(i) lR;eso t;fr uku`re~A

(ii) thoR;ukFkks·fi ous folftZr%A

(iii) bu'p fnuL;A

(iv) v| eeksiokl% vfLrA

(v) rnU;= xE;rke~ bfrA

(vi) fgrkUu ;% laÜk`.kqrs l fdaizHkq%A

6- v/kksfyf[krs"kq okD;s"kq LFkwyinkuka foxzgk% ys[;k%A

fuEufyf[kr okD;ksa esa LFkwyinksa ds foxzg fyf[k,A

Expound the compounds in bold words in the following sentences.  1 × 6 = 6

(i) 'kksdfoeksd% dksdyksdL;A

30
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(ii) v;eso vgksjk=a tu;frA

(iii) losZ ;FkkLFkkue~ mifo'kfUrA

(iv) rs·fi mRlofiz;k%A

(v) lqefgek ;|fLr fda e.MuS%A

(vi) nqjkjk/;k jkty{eh%A

7- v/kksfyf[krs"kq okD;s"kq dks"BdkUrxZrizd`frizR;;a p ;kstf;Rok fjDrLFkkukfu iwj;rA

uhps fy[ks gq, okD;ksa esa dks"Bd ds vUrxZr izd`fr ds lkFk fufnZ"V izR;; dks tksM+
dj [kkyh LFkku Hkfj,A

Rewrite  the following sentences by adding suffixes to the roots and words
given in the brackets. 1 × 8  = 8

(i) fr"B fr"B u &&&&&&&&&&&& ¼xe~ $ rO;r~½

(ii) vL; iz;kstua ¼Kk$rqequ~½ &&&&&&&&&&& bPNkfeA

(iii) vk;Z% f'kjlk ¼iz$ue~$Y;i~½&&&&& foKki;frA

(iv) gqra p ¼nk $ Dr½ &&&&&&&&&&&& p lnSo fr"BfrA

(v) vU;= ¼Hkqt~ $ DRok½ &&&&&&&& xPNkfeA

(vi) lw;Ze~ vkfJR; &&&&&&& ijk)Zla[;k HkofrA ¼ijes"B $ bu~ ½

(vii) eR;L;thfofHk% lj% &&&&&&& uhre~A ¼fueZRL; $ ry~~ ½

(viii) bne~ vfHk;kua jkspda &&&&&&& pklhr~A ¼lkgl$Bd~½

8- v/kksfyf[krs"kq okD;s"kq dr`ZfØ;kin;ks% vfUofr% fØ;rke~A

v/kksfyf[kr okD;ksa esa drkZ vkSj fØ;k dh vfUofr dhft,A

Please write the suitable verb according to the subject or vice versa
in the following sentences. 1 × 5 =5

(i) vk;Z! fueaf=r% vfLr@vflA

(ii) ,rs fxj;% vrho 'kksHkrs@'kksHkUrsA

(iii) vfö% xk=kf.k 'kq)~;fr@'kq);fUrA
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(iv) vk;Z oSghujs! lqxkÄõekxZe~ vkns'k;@vkns'k;frA

(v) eRL;thfou% v= eRL;la{k;a dfj";fr@dfj";fUrA

vFkok (Or)

v/kksnÙks"kq okD;s"kq e×tw"kkr% fo'ks"k.kinkfu fpRok fo'ks";inS% lg ;kst;r

v/kksfyf[kr okD;ksa esa fo'ks"k.k in e×tw"kk ls NkaV dj fo'ks"; inksa
ds lkFk tksfM+,A

Match the adjectives with nouns in the following sentences.
(The adjective words have been given in the box)

(i) &&&&&& _"k;% HkofUrA

(ii) dFka Li/kZrs e;k lg&&&&&&& jk{kl%A

(iii)  &&&&&&& NfnizkUr%A

(iv) &&&&&&&& Hkkstukuka nk=h HkoA

(v) &&&&&&& ,o HkoR;k% izLrqfr%A

e×tw"kk

iz'kaluh;k] nqjkRek] 'kksHkukuka] vkIrdkek%] vfrufer%

9- v/kksfyf[krs"kq okD;s"kq dks"BdkUrxZr'kCns"kq miinfoHkfDra iz;qT;
fjDrLFkkuiwfrZ% fØ;rke~A

fuEufyf[kr okD;ksa esa dks"Bd ds 'kCnksa esa miin foHkfDr dk iz;ksxdj
fjDr LFkkuksa dh iwfrZ dhft,A

Fill in the blanks  using  appropriate case-endings with the words given
in the brackets. 1 × 5  =5

(i) v;s! &&&&&&&& v/;kLrs o`"ky%A ¼flagklu½

(ii) &&&&&&& lee~ vU;= HkqDRok xPNkfeA ¼ikjkor½

(iii) rnya Hkor% &&&&&&&&& ¼lUrki½

(iv) ,"k% LrEHk% &&&&&&&&& fouk rFkSo fr"BfrA ¼fod̀fr½

(v) &&& ueks ue% ¼loZ½
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[k.M% ^?k*  (Section  D)

Hkkx% ¼1½  Part - 1

ifBrka'k vocks/kue~

ifBrka'k&vocks/ku

Reading Comprehension

10- v/kksfyf[kra x|ka'ka ifBRok laLd`rsu iz'uku~ mÙkjrA

uhps fy[ks x|ka'k dks i<+dj laLd`r esa iz'uksa ds mÙkj nhft,A

Read the following prose passage and answer the questions in Sanskrit. 5

v;eso vgksjk=a tu;frA v;e~ ,o oRlja }kn'klq Hkkxs"kq foHkufäA v;e~ ,o dkj.ke~
"k..kke~ _rwuke~A ,"k ,o vÄõhdjksfr mÙkja nf{k.ka pk;ue~A vusu ,o lEikfnrk%
;qxHksnk%A vusu ,o d`rk% dYiHksnk%A ,ue~ ,o vfJzR; Hkofr ijesf"Bu% ijk/kZl[;kA osnk
,rL; ,o ofUnu%A xk;=h veqe~ ,o xk;frA /kU; ,"k dqyewya JhjkepUnzL;A iz.kE;%
,"k% fo'os"kke~A

I- ,dinsu mÙkjr ½ × 2 =1

,d 'kCn esa mÙkj nsaA
Answer in one word.

(i) Jh jkepUnzL; dqyewya d% vfLr\

(ii) lw;ZL; ofUnu% ds lfUr\

II- iw.kZokD;su mÙkjrA 1 × 2 =2

iw.kZokD; esa mÙkj nsaA
Answer in a complete sentence.

lw;Z% oRlja dfr Hkkxs"kq foHkufDr\

III- ;FkkfunsZ'keqÙkjr ½ × 2 =1

funsZ'kkuqlkj mÙkj nhft,A
Do as directed

(i) ^^jkf=fUnoe~** bR;FksZ v= fda ina iz;qDre~\

(ii) ^^"k..kke~ _rwuke~* v= fda fo'ks"k.kine~\

35
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(iii) iz.kE;% ,"k% fo'os"kke~ v= ^,"k%* loZukeina dLeS iz;qDre~\ 1× 2 =2

(iv) ^^xk;fr* fØ;kinL; dr̀Zina fde~\

11- v/kksfyf[kra ukV~;ka'ka ifBRok iz'uku~ mÙkjr

fuEufyf[kr ukV~;ka'k dks i<+dj iz'uksa ds mÙkj nhft,A

Read the following drama passage and answer the questions.

¼rr% izfo'kfr pk#nÙkks fonw"kd% pÄõsfjdkgLrk psVh p½ 5

pk#nÙk% ¼nh?k± fu%'oL;½ Hkks% nkfjn~z;a [kyq uke eufLou% iq#"kL; lksPN~okla ej.ke~A

fonw"kd% vye~ bnkuha Hkor% vfrek=a lUrIrqe~A nkusu foiUufoHkoL; cgqyi{kpUnzL;
T;ksRLukifj{k; bo Hkor% je.kh;ks·;a nfjnzHkko%A

pk#nÙk% u [kYoga u"Vka fJ;e~ vuq'kkspkfeA xq.kjlKL; rq iq#"kL; O;lua nk#.krja eka
izfrHkkfrA

I- ,dinsu mÙkjr ½ × 2 =1

,d in esa mÙkj nhft,A

Answer in one word.

(i) pÄõsfjdkgLrk dk vfLr\

(ii) dL; iq#"kL; O;lua nk#.krja Hkofr\

II- iw.kZokD;su mÙkjrA 1 × 1 =1

iwjs okD; esa laLd`r esa mÙkj nhft,A
Answer in one sentence in Sanskrit.

pk#nÙkL; fdfeo je.kh;ks·;a nfjnzHkko%\

III- ;FkkfunsZ'keqÙkjr

funsZ'kkuqlkj mÙkj nhft,

Do as directed.

(i) ^^je.kh;ks·;a nfjnzHkko% **] v= fda fo'ks"k.kine~\ ½

(ii) ^^lEiUu** bR;L; foijhrkFkZda ina fde~\ ½

(iii) ^^Hkor% je.kh;ks·;a nfjnzHkko%* v= ^Hkor%* loZukeina dLeS iz;qDre~\ 1 ×1 =1

(iv) vuq'kkspkfe bfr fØ;kinL; dr̀Zina fde~\ 1 ×1 =1
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12 v/kksfyf[kra i|a ifBRok iz'uku~ mÙkjr

fuEufyf[kr i| dks i<+dj iz'uksa ds mÙkj nhft,A

Read the following verse and answer the questions.

f'k{kk {k;a xPNfr dkyi;Z;kRlqc)ewyk fuirfUr iknik%A

tya tyLFkkuxra p  'kq";fr gqra p nÙka p lnSo fr"BfrAA

I. ,dinsu mÙkjr ½ × 2 =1

,d 'kCn esa mÙkj nhft,A
Answer in one word.

(i) lqc)ewyk% ds fuirfUr\

(ii) dkyi;Z;kr~ {k;a dk xPNfr\

II. iw.kZokD;su mÙkjr 1 × 2 =2

iwjs okD; esa mÙkj nhft,A
Answer in one sentence in Sanskrit.

lnSo fda fda fr"Bfr\

III. ;FkkfunsZ'keqÙkjr
funsZ'kkuqlkj mÙkj nhft,
Answer as directed ½ × 4 =2

(i) ^tya tyLFkkuxra* v= fda fo'ks"k.kine~\

(ii) ^fouk'ke~* bR;FksZ fda ine= iz;qDre~\

(iii) ^fr"Bfr* bfr fØ;kinL; fda foykseine~\

(iv) ^lqc)ewyk% fuirfUr iknik% v= drZ̀ina fde~\

13- v/kksnÙka 'yksd};a ifBRok ;FkkfunsZ'ke~ mÙkjr

uhps fy[kss nks 'yksdksa dks i<+dj funsZ'kkuqlkj mÙkj nhft,A

Read the following two verses and answer as directed.

I. v'kDrScZfyu% 'k=ks% drZO;a iziyk;ue~A

vkfJrO;ks·Fkok nqxZ% ukU;k rs"kka xfrHkZosr~AA 1 +1 =2

vL; 'yksdL; d% lUnHkZxzUFk% ys[kd% pA
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II. foHkokuqo'kk Hkk;kZ lenq%[klq[kks Hkoku~A
lÙoa p u ifjHkz"Va ;n~ nfjnzs"kq nqyZHke~AA

bea 'yksda d% de~ izfr dFk;fr\ 1 +1 =2

14- v= iznÙkHkkokFkZ=;s 'kq)HkkokFkZp;ua d`Rok fy[kr

izR;sd va'k ds fy, fn;s x, rhu HkkokFkks± esa ls 'kq) HkkokFkZ p;u djds fyf[k,A
Three explanations are given for each line. Select the correct one and write.

I. mfÙk"Br tkxzr izkI; ojku~ fucks/kr

HkkokFkZ%

¼d½ funzka R;DRok b"VoLrwfu yHk/oe~A

¼[k½ vKkufunzka fogk; Js"Bku~ mixE; Kkua yHk/oe~A

¼x½ tkxj.ksuSo b"VoLrwfu izkIrqa ;r/oe~A

II. fuLi`gR;kfxfHk% ,rkn`'kS% tuS% jktk r`.kon~ x.;rsA

¼d½ jktk R;kfxu% tuku~ fdefi u x.k;frA

¼[k½ R;kfxu% jktkue~ LoYia oLrq ;kpUrsA 2+2 = 4

¼x½ bPNkjfgrk% R;kfxu% tuk% jktkue~ vfi u x.k;fUrA

vFkok (Or)

v/kksnÙkL; 'yksdL; iznÙka HkkokFk± e×tw"kknÙkinS% iwjf;Rok fy[kr

uhps fn;s x, 'yksd ds HkkokFkZ dks e×tw"kknÙk inksa ls iw.kZ djds fyf[k,A
Complete the central idea of the given verse with the words given in the box and
rewrite the same.

vuUrjRuizHkoL; ;L; fgea u lkSHkkX;foyksfi tkre~A

,dks fg nks"kks xq.klfUuikrss fueTtrhUnks% fdj.ksf"ookÄï%AA

fgeky;% vuUrjRukuke~ (i) --------------lu~ 'kksHkrsA ,"k% ioZr%  (ii) -------------- vfi iw.kZ%
orZrsA ija fgea (iii) --------------lkSUn;± (iv) --------------------------uSo leFkZ%A ;rks fg
,d% nks"k% (v) -------------- rFkSo foyqIr% (vi) --------------;Fkk (vii) --------------fdj.ks"kq
(viii) ------------frjksfgr% HkofrA

e×tw"kk

fgesu]  fgeky;L;] mRiknd% n`';rs]
pUnzL;] fou"Vqa] dyÄï%] xq.klewgs"kq
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15. v/kksfyf[kr'yksd};L; iznÙkkUo;s fjDrLFkkuiwfr± d`Rok iqu% fy[kr &
fuEufyf[kr nks 'yksdksa ds fn, x, vUo;ksa esa fjDrLFkkuksa dh iwfrZ
dj iqu% fyf[k,&
Fill in the blanks in the prose order rendering of the following two verses
and re-write the same. ½×4 =2

¼v½ ;Lrq lokZf.k HkwrkU;kReU;sokuqi';frA

loZHkwrs"kq pkRekue~ rrks u fotqxqIlrsAA

vUo;%

;% rq &&&&&&&&&&&& Hkwrkfu vkRefu ,o &&&&&&&&&&&] loZHkwrs"kq

p &&&&&&&&&& rr% &&&&&&&&&&&& fotqxqIlrsA

¼vk½ fuoSZjk foeq[khHkofUr lqân% LQhrk HkoUR;kin%A ½×4 =2

ikia deZ p ;r~ ijSjfi d`ra rÙkL; lEHkkO;rsAA

vUo;% & fuoSZjk% &&&&&&&&& foeq[khHkofUr &&&&&&& LQhrk%

HkofUr] ikia deZ p &&&&&& ijS% vfi d̀re~ rr~ &&&&&&&& lEHkkO;rsA

16- LrEHk};s v/k% iznÙkokD;kuka lkFkZda la;kstua d`Rok Øes.k fy[krA

nks LrEHkksa esa fn, x, fuEufyf[kr okD;ksa dk lkFkZd la;kstu dj Øe ls fyf[k,A

Rewrite the following sentences as per their sequential order.

(i) mfÙk"Br tkxzr ¼d½ yík[k bfr onfUrA

(ii) rFkk prqfHkZ% iq#"k% ijh{;rs ¼[k½ ;n~ nfjnzs"kq nqyZHke~A

(iii) mÙkqÄõioZrkuke~ miR;dkHkwfee~ ¼x½ R;kxsu 'khysu xq.ksu deZ.kkA

(iv) lÙoa p u ifjHkz"Va ¼?k½ izkI; ojku~ fucks/krA  1 × 4 = 4

17- v/kksfyf[kriÄ~fDr"kq LFkwyk{kjinkuka izlÄõkuqlkje~ vFk± fpRok fy[kr &

v/kksfyf[kr iafDr;ksa esa LFkwyk{kj inksa dk izlÄõ ds vuqlkj 'kq) vFkZ pqudj
fyf[k,A
Select and write the appropriate meaning of the bold words as per reference to their
context.
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(i) lÙoa p u ifjHkz"Va ;n~ nfjnzs"kq nqyZHke~A
¼d½ lrksxq.k%  ¼[k½ pfj=e~    ¼x½ eu%

(ii) vn~fHk% xk=kf.k 'kq/;fUrA
¼d½ Hkkstusu  ¼[k½ tysu   ¼x½ oL=s.k

(iii) onua izlknlnue~A
¼d½ eq[ke~  ¼[k½ 'kjhje~   ¼x½ lÄõhre~

(iv) tEcwo`{kL; izkXoYehd%A

¼d½ okYehfd% ¼[k½ ifjf/k%   ¼x½ liZx`ge~        1 × 4 = 4

[k.M ^?k*  Section D
Hkkx II   Part II

lkekU;% laLd`rlkfgR;ifjp;%

lkekU; laLd`r lkfgR; ifjp;
General Sanskrit Literature

18- v/kksfyf[krkuka dohuka ns'k&dky&d`rhuka ;FkkfunsZ'ka ukekfu fy[krA
fuEufyf[kr dfo;ksa ds ns'k] dky ,oa d`fr;ksa dk funsZ'kkuqlkj uke fyf[k,A
Write the names of the place, date and works of the following poets as directed.

do;%

(i) ck.kHkV~V%
(ii) HkoHkwfr%              ns'k%
(iii) vk;ZHkV%

(i) Hkkl%
(ii) ojkgfefgj%        dky%
(iii) vfEcdknÙkO;kl%

(i) Hkkjfo%
(ii) lqJqr%
(iii) Jh fo".kq'kekZ         dkfpnsdk d`fr%                3 + 3 + 4 = 10

(iv) dkSfVY;%

}

}
}
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vFkok (OR)

¼v½ v/k% e×tw"kk;ka iznÙk'kCnS% fjDrLFkkuiwfr± dq#rA

uhps e×tw"kk esa fn;s x, inksa ls fjDr LFkkuksa dh iwfrZ dhft,A 5

Fill in the blanks with the words given in the box below -

(i) NUnks;qDrjpuk &&&&&& dF;rsA  rL; eq[;r% Hksn};e~ & egkdkO;e~ &&&&& pA

(ii) laLd̀rlkfgR;s &&&&&&&&&&& jlk% HkofUrA rs"kq iz/kku% jl% &&&&&& vfLrA

(iii) x|a dohuka &&&&&&&& onfUrA  dFkk &&&&&&& p rL; izeq[ka Hksn};e~A

(iv) :idL; &&&&&& Hksnk% lfUrA  &&&&&&&&:idL; Hksn%A

(v) ukVdL; eq[;a rÙoa &&&&&&&&& vfLrA ukVdL; vknkS &&&&&& HkofrA

e×tw"kk

fud"ka] i|e~] [k.MdkO;a] n'k] vfHku;%
ukVde~] Ük`Ä~xkj%] uo] ukUnh] vk[;kf;dk

¼c½ laLd`rukVdL; i×p fo'ks"krk% laLd`rsu fy[krA

laLd`rukVd dh ikap fo'ks"krk,a laLd`r esa fyf[k,A
Write five characteristics of Sanskrit Drama in Sanskrit. 5
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vkn'kZiz'ui= la-&1

dsfUnzde~ ¼CORE½

vÄï;kstuk

d{kk & }kn'kh XII
vof/k% gksjk=;e~ dksM la- 322

iw.kkZÄïk% 100
Time : 3 Hours Maximum Marks : 100

ØekaÄï% mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%   foHkkx%

1- v rF;cks/k& vfry?kwÙkj% (i) dwi% ½ 2
ijh{k.ke~ ,dinsu mÙkje~ (ii) ?kVku~ ½

(iii) f'kyk[k.Ms ½

(iv) cksinso% ½

c rF;cks/k& y?kwÙkj% (i) vkReXykfuihfMr% cky% 1
ijh{k.ke~ iw.kZokD;su mÙkje~ fo|ky;kr~ fujxPNr~

ekxsZ p vge~ ew[kZ%
vfLe bfr vfpUr;r~A

(ii) xrZ% rq izfrfnua ?kVLFkki& 1
usu ,o fufeZr% tkr%A 2

l Hkkf"kdrÙocks/k& vfry?kwÙkj%
ijh{k.ke~

n Hkkf"kdrÙocks/k% (i) fo'ks"k.kp;ue~ (i) lqUnja 1

(ii) drZ̀inp;ue~ (ii) losZ 1
(iii) foyksep;ue~ (iii) rhozk 1
(iv)laKkinp;ue~~ (iv) ckyL; 1 4

³ 'kh"kZdiznkue~ vfry?kwÙkj% (i) Je'khy% cky%
vFkok
vH;klkr~ yHkrs fo|ke~
vFkok
cksinso% 2 2
vFkok
fdefi vU;r~ 10
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[k.M% ^[k*
jpukReddk;Ze~

vfLeu~ [k.Ms =;% iz'uk% lfUrA izFkes iz'us fyf[krs i=s e×tw"kkr% 'kCnku~ fpRok fofHkUufjDrLFkkukuka iwfrZ%
dj.kh;kA n'k fjDrLFkkukfu lfUrA izfr'kq)fjDrLFkkuiwfrZd`rs v/kZ% ¼½½ vÄï% fu/kkZfjr%A

ØekaÄï%    mís';e~    iz'uizdkj%   visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%   foHkkx%

2- i=ys[kus fjDrLFkkuiwfrZ% (i) psUubZr% ½ 2

vukSipkfjd& vkSipkfjddk;Ze~ (ii) okxh'k ½

dk;Zijh{k.ke~ (iii) ueLrs ½

(iv) iz.ko% ½

(v) ijh{kkifj.kke% ½

(vi) fofnr% ½

fo"k;oLrq& fjDrLFkkuiwfrZ% (vii) vÄïku~ ½

cks/kijh{k.ke~ fo"k;oLrq& (viii) ro ½

vocks/kue~ (ix) ;'k% ½ 3

(x) o/kkZiua ½

5

 3.  vfLeu~ iz'us y?kqdFkk;ka fjDrLFkkuiwfrZ% visf{krkA
 ¼izfr'kq)fjDrLFkkuiwfrZd`rs v/kZ% ¼½½ vÄï% fu/kkZfjr%A

vocks/kiwoZde~ fjDrLFkkuiwfrZ% (i) vxPNr~ ½

okD;lapjuk@ (ii) r.Mqyku~ ½

iz;ksxijh{k.ke~ (iii) diksrku~ ½

(iv) futZuss ½

(v) i';kfe ½

(vi) oje~ ½

(vii) fou';fr ½

(viii)tkysu ½

(ix) /kS;Ze~ ½

(x) d`rKr;k ½ 5

4.  defi ,da fo"k;e~ voyEC; iapokD;kfu ys[kuh;kfuA  vocks/kiwoZda okD;fuekZ.ke~A 5 15
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[k.M% ^x*

vuqiz;qDrO;kdj.ke~
vfLeu~ [k.Ms Hkk"kk;k% rÙokuka O;kogkfjdiz;ksx% visf{kr%A

vL; vk/kkj% ikB~;iqLrde~ ^_frdk* f}rh;% Hkkx% vfLrA

ØekÄï% mís';e~ iz'uizdkj% visf{kr&mÙkjkf.k vÄï& vÄï&
lÄïsrk% foHkkx%

5- okD;s"kq vuqiz;ksxkRed% (i) u $ vùre~ 1

lfU/kPNsn& LFkwyk{kjinkuka (ii) thofr$vukFk% $vfi ½ + ½

ijh{k.ke~ lfU/kfoPNsn% (iii) bu% $ p 1

(iv) ee $ miokl% 1

(v) rr~ $ vU;= 1

(vi) fde~ $  izHkq% 1
6

6- okD;s"kq leLr& LFkwyk{kjinkuka (i) 'kksdL; foeksd% 1

inkuka foxzg% foxzg% dj.kh;% (ii) vg% p jkf=% p 1

r;ks% lekgkj%

(iii) LFkkue~ vufrØE; 1

(iv) mRlo% fiz;% ;sH;% rs 1

(v) 'kksHku% efgek 1

(vi) jkK% y{eh% 1

6
7- okD;s"kq d`nUr& izd`fr&izR;;kS (i) xUrO;e~ 1

rf)rizR;;kuka ;kstf;Rok okD;& (ii) Kkrqe~ 1

iz;ksxijh{k.ke~ lUnHkkZuqlkja fjDr& (iii) iz.kE;

LFkkuiwfrZ% (iv) nÙka 1

(v) HkqDRok 1

(vi) ijesf"Bu% 1

(vii) fueZRL;xrka 1

(viii) lkgflde~ 1

8
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8- dr`ZfØ;kin& okD;s"kq (i)  vfl 1

vfUofr& 'kq)fØ;kin& (ii) 'kksHkUrs 1

ijh{k.ke~ p;usu (iii) 'kq)~;fUr 1

fjDrLFkkuiwfrZ% (iv) vkns'k; 1

(v) dfj";fUr 1

vFkok or

fo'ks"k.k& e×tw"kkr% (i) vkIrdkek% 1

inp;u& fo'ks"k.kin& (ii) nqjkRek 1

ijh{k.ke~ p;ua d̀Rok (iii) vfrufer% 1

fjDrLFkkuiwfrZ% (iv) 'kksHkukuka 1

(v) iz'kaluh;k 1

5
9- miinfoHkfDr& dks"Bdkr~ 'kCns"kq (i) flagklue~ 1

iz;ksx& miinfoHkfDr& (ii) ikjkorS% 1

ijh{k.ke~ iz;ksxs.k (iii) lUrkisu 1

fjDrLFkkuiwfrZ% (iv) fod̀fra 1

(v) losZH;% 1

5

30

ØekÄï%    mís';e~    iz'uizdkj%   visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%   foHkkx%
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[k.M ^?k*

ifBrka'k%&vocks/kue~

Hkkx% I

ØekÄï%    mís';e~   iz'uizdkj%    visf{kr&mÙkjkf.k   vÄï&   vÄï&
  lÄïsrk%  foHkkx%

10- ifBrx|ka'k& v vfry?kwÙkj% (i)  lw;Z% ½

cks/k ijh{k.ke~ ,dinsu (ii) osnk% ½ 1

mÙkje~

c y?kwÙkj% lw;Z% oRlja }kn'klq Hkkxs"kq 1 1

iw.kZokD;su foHkufDr

Hkkf"kdrRo& l-(i) i;kZ;in& (i) vgksjk=e~ ½

iz;ksxijh{k.ke~ p;ue~ 1

(ii) fo'ks"k.kine~ (ii) "k..kke~ ½

n(i) loZukeLFkkus (i) lw;ZL; d`rs 1

laKkiz;ksx%
(ii) drZ̀inp;ue~ (ii) xk;=h 1 2

5

11- ifBrukV~;ka'k& v- vfry?kwÙkj% (i) psVh ½

cks/kijh{k.ke~ ,dinsu mÙkje~ (ii) xq.kjlKL; ½ 1
y?kwÙkj%

c- iw.kZokD;su pk#nÙkL; cgqyi{k&

mÙkje~ pUnzL; T;ksLukifj{k;%

bo je.kh;ks·;a nfjnzHkko%A 1 1

Hkkf"kdrRo& l- fo'ks"k.kin& (i) je.kh;%] v;e~ ½

iz;ksxijh{k.ke~ p;ue~ 1

(ii) foyksein&
(ii) ̂ foiUu* bfr

½

p;ue~

n- (i) loZukeLFkkus (i) ^pk#nÙkL;* d`rs 1

laKkiz;ksx%
(ii) drZ̀inp;ue~

(ii) vge~
1 2

5

}

}

}

}
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12- ifBri|ka'k& v- vfry?kwÙkj% (i) iknik% ½

cks/kijh{k.ke~ ,dinsu mÙkje~ (ii) f'k{kk ½ 1

y?kwÙkj%

c- y?kwÙkj% gqra p nÙka p lnSo fr"Bfr

iw.kZokD;su

mÙkje~ 1 1

Hkkf"kdrÙo& l- (i) fo'ks"k.kin& (i) tyLFkkuxra ½

iz;ksxijh{k.ke~ p;ue~ 1

     (ii) i;kZ;in&
(ii) {k;e~

½

p;ue~

n- (i) foyksein& (i) ^xPNfr 1

p;ue~

     (ii) drZ̀inp;ue~
(ii) iknik%

1 2

5
13- izlÄõlUnHkZ& 1-  lUnHkZxzUFkL; (i) i×prU=e~&xzUFk% 1

xzUFkys[kd&    ys[kdL; p~ Jh fo".kq'kekZ&ys[kd% 1 2

ifjp;ijh{k.ke~    ukeys[kue~

2- d% dFk;fr (i) pk#nÙk% ¼d%½ 1

   da dFk;fr fonw"kde~ ¼izfra½ 1 2

14- HkkokFkZcks/k& iznÙks"kq HkkokFksZ"kq I ^[k* 2

ijh{k.ke~ 'kq)HkkokFkZp;ue~ II ^x* 2 4

vFkok

HkkokFkZcks/k& iznÙkHkkokFksZ (i) mRiknd% ½

ijh{k.ke~ e×tw"kknÙkinS% (ii) fgesu ½

iwj.ke~ (iii) fgeky;L; ½

¼fjDrLFkkuiwfrZ%½ (iv) fou"Vqa ½

(v) xq.klewgs"kq ½

(vi) n`';rs ½

(vii) pUnzL; ½

(viii)dyÄï% ½ 4

ØekÄï%   mís';e~   iz'uizdkj%   visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%   foHkkx%

}
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15- vUo;& fjDrLFkku& v (i) lokZf.k ½

ijh{k.ke~ iwfrZek/;esu (ii) vuqi';fr ½

(iii) vkRekue~ ½

(iv)u ½ 2

vk (i) lqân% ½

(ii) vkin% ½

(iii) ;r~ ½

(iv)rL; ½ 2

16. lkFkZdokD;& okD;kuka (i) → ?k 1

la;kstuijh{k.ke ~ Øekuqlkja (ii) → x 1

la;kstue~ (iii) → d 1

(iv) → [k 1 4

17. izlÄõkuqlkje~& f="kq 'kCnkFksZ"kq (i) eu% 1

vFkZp;ue~ 'kq)'kCnkFkZ& (ii) tysu 1

p;ue~ (iii)  eq[ke~ 1

(iv) liZx`ge~ 1 4

ØekÄï%   mís';e~   iz'uizdkj%   visf{kr&mÙkjkf.k  vÄï&   vÄï&
 lÄïsrk%   foHkkx%

35
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10

[k.M ^?k*
Hkkx% 2

lkekU; laLd`r lkfgR; ifjp;%
ØekÄï%    mís';e~   iz'uizdkj%    visf{kr&mÙkjkf.k   vÄï&   vÄï&

  lÄïsrk%  foHkkx%

18- laLd`rlkfgR;& dohuka ns'k&dky& ns'k% (i)  izhfrdwV% xzke% 1
cks/k ijh{k.ke~ d`rhuke~ mYys[kue ~ (ii) in~eiqje~ 1 3

(iii) dqlqeiqje~ 1
dky% (i)  bZ-iw-&prqFkZ 'krkCnh 1

(ii) "k"Bh 'krkCnh 1 3
(iii) ,dksufoa'kfr 'krkCnh 1

d̀fr% (i)  fdjkrktqZuh;e~ 1
(ii) lqÜkqr lafgrk 1 4
(iii) i×prU=e~ 1
(iv) vFkZ'kkL=e~ 1

vFkok 10
laLd`rlkfgR; v e×tw"kk;ka iznÙk~& (i)  i|e~ ½
cks/k ijh{k.ke~ inS% fjDrLFkku& (ii) [k.MdkO;e~ ½

iwfrZek/;esu (iii) uo ½
(iv) Ük`Äxkj% ½
(v) fud"ka ½
(vi) vk[;kf;dk ½
(vii) n'k ½
(viii) ukVde~ ½
(ix) vfHku;% ½
(x) ukUnh ½ 5

laLd`rlkfgR; c laLd`rukVdkuka ukVde~&
vocks/k ijh{k.ke~ i×poSf'k"V~; (i)  vfHku;% izeq[ka rÙoe~

ys[kue~ HkofrA 1
(ii) dFkkuda izfl) aikSjkf.kda

ok HkofrA 1
(iii) ukVdL; vkjEHks ukUnh

HkofrA vUrs p 1 5
HkjrokD;e~

(iv) U;wurek% i×p vÄïk%
HkofUrA 1

(v) Ükàxkj% ohj d:.k% ok
jl% HkofrA 1 10


